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5th Israel Open Solving Championship

24 June 2018
CATEGORY 1 - ROUND1 - SOLUTIONS

Valentin V. Lukyanov, 5th HM J. Hartong MT Probleemblad 1088-89

1.50d3 ! (5 points) [2.%¢5#]

1..%gl 2.5xb4# 1..2d4 2.%xg5# 1...cxd6 2.2 xg5#

1..0b3 ? [2.%c5#] 1...%gl 2.¥xg5# 1...2d4 2.%xd4# but 1...cxd6 !
1.5xd7 ? [2.%c5#] 1...Bd4 2.%e6# 1...cxd6 2..f6# but 1...%gl !
1..5b7 ? [2.%c5#] 1...%gl 2.8xg5# 1...cxd6 2.8 xd6# but 1...2d4 !

Mate changes, Zagoruiko.

Joseph Theodor Breuer, 1st HM Die Schwalbe 1980

1.¥h7 ! [2.55xe8 + (1 point) @xe6 3.2d7#]

1..86g7 2.%f5 (1 point) [3.5xe84#] 2...%g6 3.&f4# 2...5xc7 3.4.c5#
Qg7 2..5bab (1 point) [3.£.c5#] 2...5Hxe6 3.5e8#

.H8g7 2.4d7 (1 point) [3..xe8#] 2...5xc7 3.4.c5#

897 2.%xg8 (0.5 point) [3.5xe8#] 2...5xc7 3.4.c5#

.AXe7 2.8c5 + (0.25 point) &xe6 3.4d7#

.8h6 2.4.c5 + (0.25 point) &xc7 3.&xe7#

PP RERE

Marcel Tribowski, Sp. Pr. Die Schwalbe 2001
1.8b4 ! [2.8xb5 + Hc5 3.0f6 + (1 point) exf6,gxf6 4.e4#]
1..8b6 2.%g5 [3.e6#] (2.%h5 ?.hxg6 3.%xg6 dxe5 !)
2...01=% 3.%xg1 (1 point) [4.%d4#] 3...dxe5 4.%ch# 3...d1=% 4. &xd1#
2...66 3.exd6 + (0.5 point) e5 4.¥xe5#
2...h6 3.5 (0.5 point) [4.%¢e6,e6#] 3...dxe5 4.%xe5# 3...e6 4.%xeb#
1..Bb7 2.%h5 [3.e6#] (2.%95? g1=¥ 3.&xgl dxe5!)
2...hxg6 3.%xg6 (1 point) [4.%e6#] 3...dxe5 4.%xc6#
2...01=% 3.e6 + (0.5 point) ¥g5 + 4.&xg5#
2...66 3.exd6 + (0.5 point) e5 4.%xe5#

David Gurgenidze, Etyudnaya Moza 2000
1.Eh8 (1 point) Bd7+ (1 point) 2.&xd7 (2.2xd7? &xg7) 2...Axb5+ 3.&e7 A.c4

4.98=% (1 point).Q.xg8 5./xg8+ (5.8xg8? gl=% 6.2xgl=) 5...&g7 (5...295 6.5h6;
5...%h5 6.5f6+ @h6 7.2f7) 6..2h6 (1 point) &xh8 7.&f8 (1 point) g1=¥ 8.\ f7#

Andreas Schonholzer & Rudolf Wuthrich, 1st HM Idee & Form 1996-97
1.h4 Qa6 2.&h5 Q.d3 3.8h6 Hxg3# (2.5 points)

1.8de6 Bbl 2.&f5 Hb4 3..006 N d6# (2.5 points)

Vukota Nikoletic, 2nd HM Phenix 1995

1.EBfg8 ! [2.65g2 + fxg2 3.%e3 + &xf5 4.8g5 + &6 5.%¢3 + (2 points) Hxc3#]
1..f2 2.894 + hxg4 3.82xg4 + &xf5 4.496 + &f6 5.%¢3 + (1 point) Hxc3#
1...cxd6 2.%h2 + &xf5 3.%c2 + f4 4.84h2 + He3 5.2eb + (1 point) dxe6#
1..%xe8 2.%xh4 + &xf5 3.595 + &f6 4.2g7 + &5 5.8f7 + (1 point) Wxf7#



